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Question Id : 68634012961 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634012962 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR eI &1 3uged Ui @
1. 551 3R Y
2. 1Y 3R g
3. @Y SR Wi

4, T&7T 3R Ugddr

Options :

68634051201. 1
68634051202. 2
68634051203. 3
68634051204. 4

Question Number : 2 Question Id : 68634012963 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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. gETE Rufd

2. garES &

3. 3y fRyfd

4. g fRufa

Options :

68634051205. 1
68634051206. 2
68634051207. 3
68634051208. 4
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Question Number : 3 Question Id : 68634012964 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634051209. 1
68634051210. 2
68634051211. 3
68634051212. 4

Question Number : 4 Question Id : 68634012965 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
TR TN T T &
1. ST T3 are!
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3. gaal
4. &Iy Esterdt

Options :
68634051213. 1
68634051214. 2
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68634051215.3
68634051216. 4

Question Number : 5 Question Id : 68634012966 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FRTIRET Tel=l &1 eI-Ide 9g@R (U TTU aTed] &1 HHMHR TSU;

A, T IR B € SR U faeiwe
B. Of& WY 3T & W g1 &
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1.C,D,B,EA
2B G A E
3:D. By BoAT

4.E.B.A.D.E

Options :

68634051217. 1
68634051218. 2
68634051219. 3
68634051220. 4

Question Id : 68634012961 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634012962 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR eI &1 3uged Ui @
1. 551 3R Y
2. 1Y 3R g
3. @Y SR Wi

4, T&7T 3R Ugddr

Options :

68634051201. 1
68634051202. 2
68634051203. 3
68634051204. 4

Question Number : 2 Question Id : 68634012963 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2. garES &
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4. g fRufa

Options :

68634051205. 1
68634051206. 2
68634051207. 3
68634051208. 4
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Question Number : 3 Question Id : 68634012964 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634051209. 1
68634051210. 2
68634051211. 3
68634051212. 4

Question Number : 4 Question Id : 68634012965 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
TR TN T T &
1. ST T3 are!

Bt

3. gaal
4. &Iy Esterdt

Options :
68634051213. 1
68634051214. 2
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68634051215.3
68634051216. 4

Question Number : 5 Question Id : 68634012966 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634051217. 1
68634051218. 2
68634051219. 3
68634051220. 4

Sub-Section Number : 2
Sub-Section Id : 686340424
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634012967 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
'Y B1 AT SATYAT HETaR B Hol 342 &

1. HYAT &1 DR GERI BT §5Y BRI

[

. 3G Bl HEd I GER DI = A
P f&1 &1 21l WMepd
4. U1 F B gET &

Options :
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68634051222. 2
68634051223. 3
68634051224. 4
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Question Number : 6 Question Id : 68634012967 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634051221. 1
68634051222. 2
68634051223. 3
68634051224. 4

Question Number : 7 Question Id : 68634012968 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[FrafaiEd § 4 ' SUIF &1 3asRU T8l o
1. 9grd
e
3. UDIR
4. 90D

Options :

68634051225. 1
68634051226. 2
68634051227. 3
68634051228. 4
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Question Number : 7 Question Id : 68634012968 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FafafEd 5 9 0 9uwi &1 SR T8l §:
1. Ty
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Options :

68634051225. 1
68634051226. 2
68634051227. 3
68634051228. 4
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Question Number : 8 Question Id : 68634012969 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
'SIOPTRS U & URT 1 b Jralle 1 wai fohan Sirdl 52
1. o
et
3. 9ard
4. Yadig

Options :

68634051229. 1
68634051230. 2
68634051231. 3
68634051232. 4
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Question Number : 8 Question Id : 68634012969 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. o
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Options :
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68634051230. 2
68634051231.3
68634051232. 4

Question Number : 9 Question Id : 68634012970 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-IV. B-II, C-III. D-1
2. AL B-1, C-IV, D-III
3. A-L. B-I1, C-III. D-IV

4. A-II1, B-IV. C-II. D-I

Options :

68634051233. 1
68634051234. 2
68634051235. 3
68634051236. 4

Question Number : 9 Question Id : 68634012970 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634051233. 1
68634051234. 2
68634051235. 3
68634051236. 4

Question Number : 10 Question Id : 68634012971 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

il 161 Al 11§ B Sifor
| 1I
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1. A-IV. B-I1I. C-I. D-I1
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Options :

68634051237. 1
68634051238. 2
68634051239. 3
68634051240. 4

Question Number : 10 Question Id : 68634012971 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-IV. B-III. C-I. D-I1
2. AL B-1. C-IV, D-III
3. A-L. B-I1, C-III. D-IV

4. A-II1. B-IV. C-I, D-II

Options :

68634051237. 1
68634051238. 2
68634051239. 3
68634051240. 4

Question Number : 11 Question Id : 68634012972 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

was?awwaﬁﬁaﬁwmm a¥ g1 3P 3T BT 301 5:7 § | TS5S AUl ASP! B 341
B T -

1.30 9¥, 25 99
.250Y, 3599
.25 9%, 40 99
43099 4299
Options :
68634051241 1
68634051242.2

68634051243. 3
68634051244. 4
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Question Number : 11 Question Id : 68634012972 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634051241. 1
68634051242. 2
68634051243. 3
68634051244. 4

Question Number : 12 Question Id : 68634012973 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U O] D1 3ifdhel Jel 2 200 B 1 TP GHHEGR SH W 122% DI FE & & aig Hi 25% ATH W1 el ¢
T 1 T e (2 H) |2 )
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| B}
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Options :

68634051245. 1
68634051246. 2
68634051247. 3
68634051248. 4

Question Number : 12 Question Id : 68634012973 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634051245. 1
68634051246. 2
68634051247. 3
68634051248. 4

Question Number : 13 Question Id : 68634012974 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Z 800 1 AT 10% AP Ihgle o DI a2 9. 6 &1 HJaiftie Ao giar 3. fa= aui & 2 926.10
Bl STE?

E:d

B | — | —
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Options :

68634051249. 1
68634051250. 2
68634051251. 3
68634051252. 4

Question Number : 13 Question Id : 68634012974 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

% 800 B AT 10% aftiep Tehgleg &Sl DI a2 U, Td surel HeJaritie HFINHd gial 5. b= aui | 2 926.10
B S

1.1

R | — | —
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Options :

68634051249. 1
68634051250. 2
68634051251. 3
68634051252. 4



Question Number : 14 Question Id : 68634012975 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

uTg 3iTeH ufdfd 8 §¢ o Brd gU fhdll 1l @l 6 fad A od 81 3t 1 I 12 3aH! 3 wfafd= 10
g B B dl [hd 16 4 Bl

1.3

b2 | =

ed | =—

[#F¥]
LFN]

4.2

Options :

68634051253. 1
68634051254. 2
68634051255. 3
68634051256. 4

Question Number : 14 Question Id : 68634012975 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i e pfafad 8 9 Sm @ gu fovdd o1 &t 6 faT & ovd &1 S8 @ @1 12 e 3 iafes 10
He B B dl fbd &9 1 o3

Options :

68634051253. 1
68634051254. 2
68634051255. 3
68634051256. 4

Question Number : 15 Question Id : 68634012976 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1.3.6

258

4.3

Options :

68634051257. 1
68634051258. 2
68634051259. 3
68634051260. 4

Question Number : 15 Question Id : 68634012976 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U $HL @1 S5 3UP B & el ulRarg &5 40% B 1 & 0- HH B S1aR] TR S0 Al
TG 8| &XdTs U1 fasfedl @1 &ADT 15 m? BISd U 50 em ST AAUTR 2 40/m B &3 & TG BT
W@ 75,200 81 P DI I91 (m B ©:

1.36

2.5.8

4.3

Options :

68634051257. 1
68634051258. 2
68634051259. 3
68634051260. 4

Question Number : 16 Question Id : 68634012977 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



"QEFSH 52" HaieiH & oid Hidfdr J1d &%

1LQo E2H23
69 E2H?2¢
0QEZH?23
69E2HC?

Options :

68634051261. 1
68634051262. 2
68634051263. 3
68634051264. 4
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Question Number : 16 Question Id : 68634012977 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"QEFSH 52" HaieiH & oid Hidfdr J1d &%

1LQo E2H23
69 E2H?2¢
0QEZH?23
69E2HC?

Options :

68634051261. 1
68634051262. 2
68634051263. 3
68634051264. 4

| )

L]

=

Question Number : 17 Question Id : 68634012978 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i €t g angpfa H fanfSit ok anif o5t W 9rd &%

2
a3l

4. 32 fofe 2 ot

Options :

68634051265. 1
68634051266. 2
68634051267. 3
68634051268. 4

Question Number : 17 Question Id : 68634012978 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 7€ erepfa & faafSit ofR avif 1 dem J1d B

1. 44 faaler, 10 o
12 fonden, 14 o
3.27 fade, 6 ot
4. 32 faule, 2 &t

Options :

68634051265. 1
68634051266. 2
68634051267. 3
68634051268. 4
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Question Number : 18 Question Id : 68634012979 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= fou T fodeal 8 Teitd g2 =
DXH:4x8::M=xQ: ?
1. 12%17
2.13x17
3.12x16

4. 14=18

Options :

68634051269. 1
68634051270. 2
68634051271. 3
68634051272. 4

Question Number : 18 Question Id : 68634012979 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i feu U faweul 8§ Fritd S 3

DXH:4x8:: MxQ: ?

1. 12=17
2.13x17
3. 12x16

4. 14=18

Options :

68634051269. 1
68634051270. 2
68634051271. 3
68634051272. 4

Question Number : 19 Question Id : 68634012980 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= WIUd Hd U I B b (D) & WU U 1 I
1. 46
2. 60
3. 34

4. 64

Options :

68634051273. 1
68634051274. 2
68634051275. 3
68634051276. 4

Question Number : 19 Question Id : 68634012980 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= WIUd Hd U I B b (D) & WU U 1 I
1. 46
2. 60
3. 34
4. 64

Options :

68634051273. 1
68634051274. 2
68634051275.3
68634051276. 4

Question Number : 20 Question Id : 68634012981 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fafaRaa § O = o fAah, oefi=3 qwr Sare & &= fed o afaffia srar gl

| S

O

L]

Options :

68634051277. 1
68634051278. 2
68634051279. 3
68634051280. 4

Question Number : 20 Question Id : 68634012981 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fafaRaa § O = o fAah, oefi=3 qwr Sare & &= fed o afaffia srar gl

| S

O

©

Options :

68634051277. 1
68634051278. 2
68634051279. 3
68634051280. 4

Question Number : 21 Question Id : 68634012982 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B I Y oY & IoT9Td & ol T &

A T151 e gl gR1 Ui gl & g &1 il § |
B. 39 HRd &1 ANRS 37X 45 G4 S A1 FT1 81 IR0
C. I &1 BUUTas Yfaqar 38 Ffed gl

D. 33T At 3R 315 & fayfaenent & Sugraufa Iegare gR1 Fgead fad o €1
1= f3u T faeedl © 9§ Hel SR &1 99 SIfeg:
1.®dd A, D

2. BAAA.B.D
3. %AT A, C, 3R D
4. A A, B, 3R C



Options :

68634051281. 1
68634051282.2
68634051283. 3
68634051284. 4

Question Number : 21 Question Id : 68634012982 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P I Y Iy & IoT9Td & ol T &

A. 51 Fgfe yald gR1 Ui aul & g @1 9l 6

B. 39 YRd P AFIRG 3R 45 94 1 3(1g BT §HI A6

C. I P HRIUTAS ledl 374 Hied g

D. &1 1! 3R oy & fayfaenaail & Sugeyld Isaurd gRI Hye f6d ord ¢ |

=i fu T faeed o O 8l SR &1 99 Sl
1.HAAA. D

2. BAA A, B.D
3. BATA. C, 3RD
4. A A, B, 3R C

Options :

68634051281. 1
68634051282. 2
68634051283. 3
68634051284. 4

Question Number : 22 Question Id : 68634012983 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFrofafaa § ¥ oH w1 9afe yRdg Tiefde R ¢
1. U8 REPR

. HIE HPTetl REPR

Al [REPR
4, R UGS

Options :

68634051285. 1
68634051286. 2
68634051287. 3

| )

LIPS ]



68634051288. 4

Question Number : 22 Question Id : 68634012983 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FafREd o 9 &4 91 Jdied YR iside ISR &

1. 9418 REBR

2. Qifgd SfpTeH! GRHR

L]

Al TR
4. GO IR

Options :

68634051285. 1
68634051286. 2
68634051287. 3
68634051288. 4

Question Number : 23 Question Id : 68634012984 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Oy s

gl 1 1 gl 11 ¥ e Sifore

I 11
o b
A [BFTd 1 [ERY
B. [cadt II. [feBR
C. [pgs 1L [3iemeRr
D. [[eGRmam V. [BIEUs

=i fu T 9ot o O 5l SR &1 99 Hife :
1. AL B-IL C-IIL D-IV

2.A-L B-IV, C-II. D-IIT

L]

CA-IV, B-1, C-II1, D-II

4. A-IV. B-III. C-1. D-II

Options :

68634051289. 1
68634051290. 2
68634051291. 3
68634051292. 4

Question Number : 23 Question Id : 68634012984 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Oy s

gl 1 1 gl 11 ¥ e Sifere

T 1 T 1
e T Il
A [3%Td 1 [HeR®
B. [cirad] 1. [[AER
C. [pHgs I11. [HTHTEET
D. [fgaiim] IV. [SIRUs

i 14U 0 fdered] § O 98l 3R &1 904 Bifoll
1. A-L B-IL C-IIL. D-IV
2. A-L B-IV. C-II. D-III
3. A-IV, B-I, C-II, D-II

4. A-IV, B-III. C-I. D-II

Options :

68634051289. 1
68634051290. 2
68634051291. 3
68634051292. 4

Question Number : 24 Question Id : 68634012985 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
191 81 H TR 31 T URA-NCAP' Frafd g
PRI Pl b &M g

[

2. FoHol oid WieldbTd
. UgNuT fg=

4. =5 549 IdIeA

L]

Options :

68634051293. 1
68634051294. 2
68634051295. 3
68634051296. 4

Question Number : 24 Question Id : 68634012985 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



B1d ol § UR™ @ 01 'YRA-NCAP 9&(9d 6
. BRI DI Tah &7 g

—

L

2. IO Fid WD

 UgHU A

LFN]

4. T 549 3dIGH

Options :

68634051293. 1
68634051294. 2
68634051295. 3
68634051296. 4

Question Number : 25 Question Id : 68634012986 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i ae 9=+ arell yud YR 3 82
i
. a1 wiRa
3. e fir

4. ¢ <dl

—

| B}

Options :

68634051297. 1
68634051298. 2
68634051299. 3
68634051300. 4

Question Number : 25 Question Id : 68634012986 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i ae 9=+ arell yud YR 3 82
1. U431 ™
. a1 wiRa
3. fea o

4. d{T adl

| B}

Options :
68634051297. 1



68634051298. 2
68634051299. 3
68634051300. 4

Part B: Botany

Section Id : 686340258
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340425
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634012987 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Reticulate type of chloroplast is a characteristic of which algae?
1. Oedogonium
2. Zygnema
3. Chlamydomonas
4. Vaucheria

Options :

68634051301. 1
68634051302. 2
68634051303. 3
68634051304. 4

Question Number : 26 Question Id : 68634012987 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SfaeTey sauad [6F Tard & U6 T&0 87

1. SSITfAaT
fordiar

[

%

4. grEIRTT

Options :

68634051301. 1
68634051302. 2
68634051303. 3
68634051304. 4

Question Number : 27 Question Id : 68634012988 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which algae shows fungus like branched, coenocytic and siphonaceous thallus.

1. Navicula

[ )

. Vaucheria
3. Folvox
4. Polysiphonia

Options :

68634051305. 1
68634051306. 2
68634051307. 3
68634051308. 4

Question Number : 27 Question Id : 68634012988 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
B W AT, HaD B NS ITEIGd, FITH] quT Ay Ued S=IaT 87
1. Hdlager

4. GicAirrepif3ar

Options :
68634051305. 1



68634051306. 2
68634051307. 3
68634051308. 4

Question Number : 28 Question Id : 68634012989 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Following are the common characteristic structural motifs of eukaryotic transcription factors, except:
1. helix-turn-helix (HTH)
2. Zinc-finger
3. TF1IB
4. basic leucine zipper (bZIP)

Options :

68634051309. 1
68634051310. 2
68634051311. 3
68634051312. 4

Question Number : 28 Question Id : 68634012989 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

................... & AR GHHBED] HIeRad PRD| & AAAHD Hhed g |
1. gl oy (T9.61.09)
2. o TR
3. €1 U 315 313 i (TFIIB)
4. A TgEH TR (@l oS a5 o)

Options :

68634051309. 1
68634051310. 2
68634051311. 3
68634051312. 4

Question Number : 29 Question Id : 68634012990 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Bacterial species showing several flagella at one pole are called:

1. Monotrichous

b2

. Lophotrichous

L¥ 5]

. Amphitrichous
4, Peritrichous

Options :

68634051313. 1
68634051314. 2
68634051315. 3
68634051316. 4

Question Number : 29 Question Id : 68634012990 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U 5l Yd UR g, HRNUPIE I arell ST Sfd ol &1 Bed o2
1. Th ST

AL

3. IHBHRMH

4, OferHr

| ]

Options :

68634051313. 1
68634051314. 2
68634051315. 3
68634051316. 4

Question Number : 30 Question Id : 68634012991 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

1ISTI LISTII
A | Red rust disease of tea leaves| 1. | Faucheria
B. | Chlorellin 1. | Cephaleuros
C. | Gongrosira stage II1. | Chiorella
D. | Sea palm IN. | Portelsia

Choose the correct answer from the options given below:

1. A-IV, B-I. C-III. D-II

| ]

AL B-IV. C-11, D-1
3. A-IL. B-III. C-I. D-IV
4. A-I. B-II. C-IV, D-III

Options :

68634051317. 1
68634051318. 2
68634051319. 3
68634051320. 4

Question Number : 30 Question Id : 68634012991 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey

_ [er @1 ulaat @1 a1 fse | L | dERar
1L [geeig

MTITRITERT Sfa=ul 1L |Fcieerr
. [FEs ds v |oreerezrmr
frafead [deedl O I 98l SR &1 99 Sl :

1. A-IV. B-I. C-III. D-II

'wl ol fv=h =

| o

AL B-IV. C-I1. D-1
3. A-IL, B-III. C-1. D-IV
4. A-I. B-II. C-IV, D-III

Options :

68634051317. 1
68634051318. 2
68634051319. 3
68634051320. 4



Question Number : 31 Question Id : 68634012992 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Structure Name of organism
A | Heterocyst 1. | Cladophora
B. | Cap cells II. | Diatoms
C. | Frustule IT1. | Blue green algae
D._ | Aegagrapilous forms | IV, | Qedogonium

Choose the correct answer from the options given below:

1. A-IV. B-I1I. C-1. D-II

| ]

CA-ILL B-IV. C-1I1, D-1
3. A-IL. B-1. C-III. D-IV
4. A-1. B-II. C-IV. D-III

Options :

68634051321. 1
68634051322. 2
68634051323. 3
68634051324. 4

Question Number : 31 Question Id : 68634012992 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 gt 11 9 faH Sife
T T T 1T

. [eeifiRe 1 [eisieRI
O ®ifRe | 11 [Saew

bRl 111 [{id sRd 2ard
STyl V. [seriaH

FafaRad o eal © O 9gl SR & 994 DI

1. A-IV. B-IIL. C-I. D-II

IR

2. AL B-IV. C-I1. D-I

3. A-I1, B-1. C-III. D-IV

4. A-1. B-I1. C-IV, D-III
Options :

68634051321. 1
68634051322. 2



68634051323.3
68634051324. 4

Question Number : 32 Question Id : 68634012993 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Riboswitches are the small mRNA. which alter the expression of a gene.
Reason R: Alternation of expression is due to high specificity of mRNA to broad range of ligands.

In the light of the above statements. choose the most apprepriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

| )

. Both A and R are correct but R i1s NOT the correct explanation of A
3. A is correct but R is not correct
4. A is not correct but R is correct

Options :

68634051325. 1

68634051326. 2

68634051327.3
68634051328. 4

Question Number : 32 Question Id : 68634012993 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-9 &1 YA AU U §, TP SITUSUT A (Assertion A) B 39 H [Gd § oI THT I9% BRUT R(Reason R) &
Uy

STUBUT A: AARTT TG mana & ol T i @1 aifiemias ol aratid &3 g

BRI R: SR BT HATTAN mana TS 21 s o 3 5= i & sro ek 8 |

SURIE BY o 3l 4, 1< U T [dedl § ¥ 999 Iuged Jav &1 904 Bifay
1. A R REM T8 € R R, A DI o1 ARAT 3

A SRR UL € AR R AT IS AR T8 ©

3. AT S AP R T ST

4. AEEI TR AR TR ©

Options :
68634051325. 1
68634051326. 2

| )



68634051327.3
68634051328. 4

Question Number : 33 Question Id : 68634012994 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following 1s true about Gibberellins?

A. Gibberellins are terpenoid compounds, made up of 1soprene units.
B. GA,5 1s the precursor of all the other gibberellins.

C. GA, and GAj are directly responsible for the various effects in plants.

D. Size of seedless grapes can be increased by GA applications.
E. Gibberellin biosynthesis can be inhibited by application of Auxins.

Choose the correct answer from the options given below:

1. A.B. D only

[ )

.C.D. E only
3.A.B.C.E only
4.B.C.D only

Options :

68634051329. 1
68634051330. 2
68634051331. 3
68634051332. 4

Question Number : 33 Question Id : 68634012994 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



foreaier & aR #, Fefafed § @H 9d 8

A TorsRfeE | meaii= seEal 9 81 edAs s Ol Bl
B. GA, 5T G forsaefe &1 gdmHi g |

C.GA, 3R GA; . Uil & fafly wyal & foe We-saverd §)

D. GA & WONT ¥ sieRigd 3R &1 AR dgdl ol Hebdl 6
E. Sl o SIUaRT 4 [Seakie & oid TRyl &l el &l Tbdl §

i fau 0 f[daredl | ¥ Uel 3R &1 904 Siig;
1. AU A. B, D
2.%dd C.D.E
3.%dd A.B.C.E
4.%ad B,C.D

Options :

68634051329. 1
68634051330. 2
68634051331. 3
68634051332. 4

Question Number : 34 Question Id : 68634012995 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is true for Alternative Splicing?

AL Tt increases the number of proteins that can be made from each gene.

B. It is a step in the process of post-translational regulation.

C. It can change the protein localization in the cell.

D. It defines removal of alternative introns from the mRNA.

E. It allows the humans to produce several hundred thousand different proteins from 25000 genes.

Choose the correct answer from the options given below:
1. B. D. only
2.B.C.D only
3.A C,.E only

4. A.E only

Options :

68634051333. 1
68634051334. 2
68634051335. 3
68634051336. 4



Question Number : 34 Question Id : 68634012995 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFafiEd # aefcde Feu & [0 SH-31F 94 82

A. TE AT olF & §- arell e &1 981 § §ia SRl o

B. U8 U¥ 3{aTa- a0 Uithdl &1 U TRl ¢ |

C. U8 SIS & Ui &1 RIFTdal & giafdd &2 9% g

D. T8 mRNA ¥ 35[0 Tadd &1 g &I IRYIMNT Hal gl

E. Tg 25000 Sl & Y Sl- BRI #19d WidH & faior & gemdr sear |

i fou 7Tt fawedl © § 9El STR &1 997 Fifult:
1.%dd B.D
2. &dd B.C,D
3.%dd A, C.E
4. Had AE

Options :

68634051333. 1
68634051334. 2
68634051335. 3
68634051336. 4

Question Number : 35 Question Id : 68634012996 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

1ISTI LISTII
Botanical Name English Name
Cucumis sativa | 1. | Pumpkin
Cucumis melo II. | Melon
Curcurbita pepo| lI1. | Cucumber
Citrullus lomarus| IV. | Water melon

N REE

Choose the correct answer from the options given below:

1. A-IV. B-II. C-III. D-I

[ ]

AL B-ILL, C-LL. D-IV
3. A-L. B-11. C-III, D-IV
4. A-IL. B-III. C-1. D-IV

Options :



68634051337. 1
68634051338. 2
68634051339. 3
68634051340. 4

Question Number : 35 Question Id : 68634012996 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 1 1 gl 11 9 fiar Sifen

TP I T II
_|pPET gergal 1A
FPHT 11 [ERes

FRgpfaer gl | 1L [diR
|fgcere gHeg| v fiRe

frafatad foweat § I 98t SR &1 997 S«

1. A-IV. B-II. C-III. D-I

glr|w]|=

|

AL B-ILL, C-LL. D-IV
3. A-1. B-I1. C-III. D-IV
4. A-I1, B-1II. C-I, D-IV

Options :

68634051337. 1
68634051338. 2
68634051339. 3
68634051340. 4

Question Number : 36 Question Id : 68634012997 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Eukaryotic ribosomes sediment in sucrose gradient with a sedimentation coefficient of:

1.1008

b2

.90 5
3.805
4. 1508

Options :

68634051341. 1
68634051342. 2
68634051343. 3
68634051344. 4



Question Number : 36 Question Id : 68634012997 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

hIoT YU B gebiRalc & Aeaidy a9l .......... 3faHTg RIS & WY EId & |

1.1008

2

L9085
3.808
4. 150 S
Options :
68634051341. 1
68634051342.2

68634051343.3
68634051344. 4

Question Number : 37 Question Id : 68634012998 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other 15 labelled as Reason R.

Assertion A: The chromosome is composed of heterochromatic terminal region called telomeres.

Reason R: Telomeres are important part of a chromosome and are required during chromatid separation in cell
cyele.

In the light of the above statements. choose the most apprepriate answer from the options given below:

1. Both A and R are correct and R 1s the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R 1s not correct
4. A 1s not correct but R is correct

Options :

68634051345. 1

68634051346. 2

68634051347.3
68634051348. 4

Question Number : 37 Question Id : 68634012998 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



:ﬁaaﬁiﬁﬁqmgwwwqqAﬁAsseﬂion A]%Wﬁmﬁ%?ﬁmmmR(Reasun
Ry$G ¥0H

STUTUT A: O i [AwHauil (§Cipifc®) & § & 8id © o] 3aes Fel oldl o
PRI R: 306 S, TURA & Tg@yul 4FT 8 Sl {3 BIeTass o 0RE UyaHul & iU SiaRg® ¢ |
SR HYA & 3fdid 1, A fGU T fadedl I ¥ 999 39ged 3a) &1 907 Hioig
1. A SRR HEI € SRR AT IS AR &

A SRR TG § SRR, A DI UG AR T8I &

3. A TR R AT R TR AR ©

4, A 981 781 & P R HEl ©
Options :
68634051345. 1
68634051346. 2

68634051347.3
68634051348. 4

[

Question Number : 38 Question Id : 68634012999 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
An opportunistic fungal parasite that causes mycoses in animals:
1. Candida albicans
2. Neurospora crassa
3. Tuber melanosporum
4. Pilobolus

Options :

68634051349. 1
68634051350. 2
68634051351. 3
68634051352. 4

Question Number : 38 Question Id : 68634012999 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634051349. 1
68634051350. 2
68634051351. 3
68634051352. 4

Question Number : 39 Question Id : 68634013000 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A systematic study of recurrence of cereal rust in the plain of India was carried out by:

1. Dr. P. Maheshwari

(B

.Dr. K.C. Mehta
3. Dr. P.C. Mehta
4. Dr. Hargovind Khurana
Options :
68634051353. 1
68634051354. 2

68634051355.3
68634051356. 4

Question Number : 39 Question Id : 68634013000 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YRd & Harl &7 § 41 [ &1 TRIgh & 990 ¥ Ue e S99 [ g1 fdhal T A1
1. 31 o aeyd
2. 514t Hgar
3. 14t =i Hgdl

4. 81. gUIlfd-< QI

Options :



68634051353. 1
68634051354. 2
68634051355. 3
68634051356. 4

Question Number : 40 Question Id : 68634013001 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Aflatoxing are produced by:

—

. Aspergillus flavus

(B

. Penicillium rubrum

[F5]

. Cordyceps purpurea

=y

. Claviceps purpurea

Options :

68634051357. 1
68634051358. 2
68634051359. 3
68634051360. 4

Question Number : 40 Question Id : 68634013001 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YuTTeliayH fodd gRI e fby & 82
1. OERIOIery Teiay
Uil avH
| Pl geEgfeT

i ¥ S
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Options :

68634051357. 1
68634051358. 2
68634051359. 3
68634051360. 4

Question Number : 41 Question Id : 68634013002 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
Name Organism
A | Black wart disease of potato| L | Svnchverium endobioticum
B. | Black Mould I1. | Achyla bisexualis
C. | Water Mould 111 | Aspergillus niger
D. | Blue or Green Mold IN. | Penicillium chrysogenum

Choose the correct answer from the options given below:

1. A-IV. B-II. C-IIT. D-1
2. A-ILL B-1. C-IV. D-II
3. A-IL B-IV. C-1. D-III
4. A-I. B-IL. C-II. D-IV

Options :

68634051361. 1

68634051362. 2

68634051363. 3
68634051364. 4

Question Number : 41 Question Id : 68634013002 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey

T 1 T 11
A |ae @ e @ids I 1 |[[HFIcgT vslargiieay
B. [®Tc o I1. | SfepTECH §T3 YaIHIcr|
C. [ B 111 | TERfoed 577
D. [ien 71 531 e V. |Gwicrd e anTa
fafafad faemedl O O 981 IR &1 994 I -

1. A-IV. B-II. C-III. D-I

| o

CA-IILL B-1L C-IV, D-I1
3. A-IL B-IV, C-1. D-III
4. A-1. B-III, C-I1, D-IV

Options :

68634051361. 1
68634051362. 2
68634051363. 3
68634051364. 4



Question Number : 42 Question Id : 68634013003 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Parasexual cycele brings variation in those fung: where sexual reproduction 1s absent. Arrange the following
steps involved in the cycle sequentially:

A Multiplication of diploid nuclei.

B. Formation of heterokaryotic mycelium and nuclear fusion.

C. Sorting of diploid nucle: and occasional haplodization of diploid nuclei.
D. Occasional mitotic crossing over.

E. Sorting of new haploid strain.

Choose the correct answer from the options given below:

L. D AC,E B A

2

CADCEB
3B,AD,C.E
4 AB.C.ILE

Options :

68634051365. 1
68634051366. 2
68634051367. 3
68634051368. 4

Question Number : 42 Question Id : 68634013003 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CRTCIRT I 0T 3 Bloal § [Afdedl @ & 10 U ddieqd Uishd 8. e dffie W= =l sidl | 99
& forg g forfad =Rl 1 SHMER 3 hH I ogaiyd SISl

A. TST[fOrd Sl 1 U

B. favHd=d Hadpald e Tag Pl HHI0

c. BT ! &t Serg avt FHl-F FTfoa F=! F1 srH
D. HER JHE A ma g

E. T SIS [d@fd &1 Bels
- fqu e faeeal & 9 Hel IR o1 99 BT

LB . BB A

2

A D, C.E.B
3B,A.D,C.E
44,8, CDH

Options :
68634051365. 1



68634051366. 2
68634051367. 3
68634051368. 4

Question Number : 43 Question Id : 68634013004 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Among the fossils, well preserved leaf venation pattern can be seen in:
1. Coal balls
2. Incrustation fossils
3. Compactation fossils
4. Impression fossils
Options :
68634051369. 1
68634051370. 2

68634051371.3
68634051372. 4

Question Number : 43 Question Id : 68634013004 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634051369. 1
68634051370. 2
68634051371. 3
68634051372. 4

Question Number : 44 Question Id : 68634013005 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Microspores are liberated at 5-celled stage of male gametoplytes in:

1. Pinus

b2

. Cycas

L¥ 5]

. Ephedra
4. Ginkgo

Options :

68634051373. 1
68634051374. 2
68634051375. 3
68634051376. 4

Question Number : 44 Question Id : 68634013005 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R SIS & o ¥ gerdiois] &1 s- Sy saw a5 I Fu seram gl

1. Yle1d
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 gIEHY
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4. fiI=1

Options :

68634051373. 1
68634051374. 2
68634051375.3
68634051376. 4

L

Question Number : 45 Question Id : 68634013006 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Gradate sori can be seen in:

1. Marsilea

| B

. Selaginella
3. Pteris
4. Ophioglossum

Options :
68634051377. 1



68634051378. 2
68634051379. 3
68634051380. 4

Question Number : 45 Question Id : 68634013006 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e & ¥ fooud 98 Ol <\ o 93 87
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Options :

68634051377. 1
68634051378. 2
68634051379. 3
68634051380. 4

Question Number : 46 Question Id : 68634013007 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
has elaterophores present in the apical region of the capsule.
1. Pellia
2. Riccia
3. Anthoceros
4. Riccardia

Options :

68634051381. 1
68634051382. 2
68634051383. 3
68634051384. 4

Question Number : 46 Question Id : 68634013007 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g & O forge sfiey gaiewer Sufud g7
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Options :
68634051381. 1
68634051382. 2

68634051383. 3
68634051384. 4

[
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Question Number : 47 Question Id : 68634013008 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |dnthoceros I. [Hornworts
B. |Sphagnum II. PMaiden hair ferm|
C. |Adiantum I11. |R.oval ferm
D. |Osmunda IV. [Peat moss

Choose the correct answer from the options given below:

1. A-I. B-I'V. C-II, D-1III

| ]

CA-TL B-IIL C-IV. D-ITT
3. A-IV, B-1, C-II, D-III
4. A-I. B-II, C-III. D-IV

Options :

68634051385. 1
68634051386. 2
68634051387. 3
68634051388. 4

Question Number : 47 Question Id : 68634013008 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-I. B-I'V. C-I1, D-III

o|o]w]s

| o

A-LL B-II. C-IV, D-II1
3. A-IV. B-1, C-II. D-III
4. A-1. B-I1. C-III, D-IV

Options :

68634051385. 1
68634051386. 2
68634051387. 3
68634051388. 4

Question Number : 48 Question Id : 68634013009 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A | Lutoids I | Sieve elements
B. | Nacre' wall II. | Idioblast
C. | Cystolith III. | Cork cambium
D. | Phelloid cell | IV | Laticifers

Choose the correct answer from the options given below:

1. A-II. B-IV, C-III. D-I

| )

A-IV, B-I, C-I1, D-II1

L

CA-I B-III, C-IV, D-I1
4. A-ITL, B-11. C-1. D-IV

Options :

68634051389. 1
68634051390. 2
68634051391. 3
68634051392. 4



Question Number : 48 Question Id : 68634013009 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 1 1 gl 11 9 e Sife
T T

A [egern 1 [@al dilRraT

B. [H@< fufd 1. Rregieae

C. [Fretey 111 [Pid hitaay

D. [Falgs S| IV, [aiim

FafaRad o eal © O 9gl SR & 994 DI

1. A-IL. B-IV, C-III. D-1

|

. A-IV, B-I. C-II, D-III
3. A-L B-III, C-IV. D-IT
4. A-I11, B-11. C-I. D-IV

Options :

68634051389. 1
68634051390. 2
68634051391. 3
68634051392. 4

Question Number : 49 Question Id : 68634013010 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A | WUSCHEL gene 1. | Stomata
B. | TOO MANY MOUTHS gene| I1. | Vascular bundles
C. | GLABROUS gene IT1. | Shoot Apical Meristem
D. | Wilted gene IV | Trichome

Choose the correct answer from the options given below:

1. A-L. B-I'V, C-II, D-1III

| E)

A-ILL B-1III. C-I. D-IV
3. A-IIT, B-1, C-IV. D-II
4, A-IV, B-11. C-I11, D-I

Options :

68634051393. 1

68634051394. 2
68634051395. 3



68634051396. 4

Question Number : 49 Question Id : 68634013010 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-I. B-I'V. C-II, D-III

ofafw]>

|

CA-IL B-II1. C-1. D-IV
3. A-IIL B-1. C-IV, D-1I
4. A-IV. B-1I. C-I11. D-I

Options :

68634051393. 1

68634051394. 2

68634051395.3
68634051396. 4

Question Number : 50 Question Id : 68634013011 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Fibers commonly formed in the secondary xylem of tension wood are termed:

1. Substitute fibers

b2

. Libriform fibers
3. Gelatinous fibers

4. Fiber tracheids

Options :

68634051397. 1
68634051398. 2
68634051399. 3
68634051400. 4

Question Number : 50 Question Id : 68634013011 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634051397. 1
68634051398. 2
68634051399. 3
68634051400. 4

Question Number : 51 Question Id : 68634013012 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Vascular bundle, in which the primary xylem is bounded both to the inside and outside by strands of primary
phloem. is known as:

1. Collateral bundle
2. Bicollateral bundle

3. Amphivasal bundles
4. Amphicribral bundles

Options :

68634051401. 1
68634051402. 2
68634051403. 3
68634051404. 4

Question Number : 51 Question Id : 68634013012 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634051401. 1
68634051402. 2
68634051403. 3
68634051404. 4

Question Number : 52 Question Id : 68634013013 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A | Qsmunda I. | Amphivasal vascular bundles
B. | Cucurbita II. | Collateral vascular bundles
C. | Acorus III. | Bicollateral vascular bundles
D._ | Cassia IV, | Amphicribral bundles

Choose the correct answer from the options given below:

1. A-III, B-1. C-1I. D-IV

| )

CA-L B-II. C-IV, D-II1
3. A-IL. B-IV, C-I11, D-I
4. A-IV. B-1II. C-I, D-II

Options :

68634051405. 1
68634051406. 2
68634051407. 3
68634051408. 4

Question Number : 52 Question Id : 68634013013 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-III. B-1. C-II. D-IV

ofofw]-

2. A-L B-I1. C-IV, D-III
3. A-IL, B-IV, C-I11. D-I
4. A-IV. B-11I. C-I. D-II

Options :

68634051405. 1
68634051406. 2
68634051407. 3
68634051408. 4

Question Number : 53 Question Id : 68634013014 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Wild species of Dioscorea are used for the extraction of steroidal sapogenins which can be
converted into cortisone. testosterone and oestrogen as well as progesterone.

Statement IT: The inflorescence of Colocasia esculenta 1s spadix with short pedunele which 1s shorter than the
petiole.

In the light of the above statements. choose the most apprepriate answer from the options given below:

1. Both Statement I and Statement I are correct
2. Both Statement [ and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II 1s correct

Options :

68634051409. 1

68634051410. 2

68634051411. 3
68634051412. 4



Question Number : 53 Question Id : 68634013014 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634051409. 1
68634051410. 2
68634051411. 3
68634051412. 4

Question Number : 54 Question Id : 68634013015 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other 1s labelled as Reason R.

Assertion A: Cymbopogon citratus 1s known as citronella grass which is a native of Sr1 Lanka.

Reason R: Citronella grass essential o1l has significant amount of Citronellal and Geranoil content. besides
Geranial and Borneol.

In the light of the above statements. choose the most apprepriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. A 1s correct but R is not correct
4. A 1s not correct but R is correct

Options :

68634051413. 1

68634051414. 2

68634051415.3
68634051416. 4



Question Number : 54 Question Id : 68634013015 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634051413. 1
68634051414. 2

68634051415. 3
68634051416. 4

| )

Question Number : 55 Question Id : 68634013016 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Sapodilla. belongs to family.

1. Oxalidaceae

(B

. Sapotaceae
3. Caricaceae
4, Vitaceae

Options :

68634051417. 1
68634051418. 2
68634051419. 3
68634051420. 4

Question Number : 55 Question Id : 68634013016 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634051417. 1
68634051418. 2
68634051419. 3
68634051420. 4

Question Number : 56 Question Id : 68634013017 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTIT
Iigna unguiculata| 1. | Black gram

Phaseolus mungo | 1. | Bengal gram

Cicer arietinum 111 | Cow peas

R

Phaseolus aurenus | IV. | Green gram

Choose the correct answer from the options given below:

1. A-II. B-I1I. C-1. D-IV

| ]

A-IILL B-1, C-ILL. D-IV
3. A-IV, B-11, C-I11, D-I
4. A-II1. B-IV. C-II. D-1

Options :

68634051421. 1
68634051422. 2
68634051423. 3
68634051424. 4

Question Number : 56 Question Id : 68634013017 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-II. B-I1I. C-1. D-IV

| o

CA-IL B-LL G-I D-IV
3. A-IV. B-1I. C-I11. D-I
4. A-TII, B-IV. C-T1. D-I

Options :

68634051421. 1

68634051422. 2

68634051423.3
68634051424. 4

Question Number : 57 Question Id : 68634013018 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Age pyramid having a bell-shaped polygon denotes:

1. Increasing population

2

. Decreasing population

LFS]

. Stable population
4. Fluctuating population

Options :

68634051425. 1
68634051426. 2
68634051427. 3
68634051428. 4

Question Number : 57 Question Id : 68634013018 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634051425. 1
68634051426. 2
68634051427. 3
68634051428. 4

Question Number : 58 Question Id : 68634013019 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Mutations occuring in cell other than germ cells are known as:

1. Silent mutation

(B

. Somatic mutation
3. Missense mutation

4. Point mutation

Options :

68634051429. 1
68634051430. 2
68634051431. 3
68634051432. 4

Question Number : 58 Question Id : 68634013019 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o PIR®T & sifdiad IR & fpdt i@ d gafada®l . @ed el
1. -Ra gafad-

DI FARTdT

31 SARad

g Safad=

| ]

[#%]

=

Options :
68634051429. 1



68634051430. 2
68634051431.3
68634051432. 4

Question Number : 59 Question Id : 68634013020 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Variations in chromosome number represented by 2n+1 in organisms are called:
1. Monosomy
2. Diploidy
3. Trisomy
4. Disomy
Options :
68634051433. 1
68634051434. 2

68634051435. 3
68634051436. 4

Question Number : 59 Question Id : 68634013020 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
oildl H 2n + 1 GRT WIS B &1 ardd URE! &t T 3 fafidl &f .1 dgd o2
1. Uh et

f

Options :

68634051433. 1
68634051434. 2
68634051435. 3
68634051436. 4

Question Number : 60 Question Id : 68634013021 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Specialized chromosomes associated with larvae of some flies are called:

1. Lampbrush chromosome

[ ]

. Metacentric chromosome

L]

. Polytene chromosome

4. Somatic Chromosome

Options :

68634051437. 1
68634051438. 2
68634051439. 3
68634051440. 4

Question Number : 60 Question Id : 68634013021 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634051437. 1
68634051438. 2
68634051439. 3
68634051440. 4

Question Number : 61 Question Id : 68634013022 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Homologus chromosomes containing identical gene sites along their length called:
1. Alleles
2. Loci
3. Dialleles

4. Chiasmata

Options :
68634051441. 1



68634051442. 2
68634051443.3
68634051444. 4

Question Number : 61 Question Id : 68634013022 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TG URGET H 31 daTs & WY-91Y AAFE S ®A g s oH®l . Fedo?

1. Teite/faspedt

TS dud

fafdepedt
4. fpusrarer

Options :

68634051441. 1

68634051442. 2

68634051443.3
68634051444. 4
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Question Number : 62 Question Id : 68634013023 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A | Recombination in Bacteria| I | Transcription factor
B. | Clover leaf model II. |snRNA
C. | Spliceosome III. | Rec A protein
D. | Zinc-finger IV. |t-RNA

Choose the correct answer from the options given below:

1. A-I. B-III. C-IV. D-II

| ]

. A-IL B-IV, C-T11. D-1
3. A-III, B-IV, C-I1, D-I
4. A-IV, B-1II. C-I. D-II

Options :

68634051445. 1
68634051446. 2
68634051447. 3
68634051448. 4



Question Number : 62 Question Id : 68634013023 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-L. B-III. C-IV, D-II

IR

|

A-IL B-IV, C-I11. D-1
3. A-IIT, B-IV. C-I1, D-I
4. A-IV, B-IIL. C-L. D-II

Options :

68634051445. 1
68634051446. 2
68634051447. 3
68634051448. 4

Question Number : 63 Question Id : 68634013024 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Satellite DNA is absent in:

A. Plasnud

B. Prokaryotes
C. Eukaryotes
D. Drosaphila
E. Yeast

Choose the correct answer from the options given below:

1. C. D only

[ )

.A. B only
3.D only
4. D. E only
Options :
68634051449. 1

68634051450. 2
68634051451.3



68634051452. 4

Question Number : 63 Question Id : 68634013024 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634051449. 1
68634051450. 2
68634051451. 3
68634051452. 4

Question Number : 64 Question Id : 68634013025 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Common Name Edible Protein
A |Papaya I. | Pericarp
B. | Sapodilla II. | Mesocarp
C. | Banana I11. | Pericarp. Placenta
D. | Guava IV, | Mesocarp, endocarp

Choose the correct answer from the options given below:

1. A-L. B-II. C-III, D-IV

[ ]

. A-TV, B-III. C-1II, D-1

3. A-IL B-1. C-IV, D-III

4. A-II1. B-IV. C-I. D-II



Options :

68634051453. 1
68634051454.2
68634051455. 3
68634051456. 4

Question Number : 64 Question Id : 68634013025 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-L. B-II. C-IIL. D-IV

|

. A-TV, B-III. C-1II. D-1
3. A-I1, B-1. C-IV. D-III
4. A-II1, B-IV. C-1. D-II

Options :

68634051453. 1
68634051454. 2
68634051455. 3
68634051456. 4

Question Number : 65 Question Id : 68634013026 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The first step in protein synthesis is the binding of the small ribosomal unit to the ribosome binding site of the
mRNA that contains one of the following codons:

1. UUA
2. UAU
3. AAU

4, AUG

Options :

68634051457. 1
68634051458. 2
68634051459. 3



68634051460. 4

Question Number : 65 Question Id : 68634013026 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1.UUA

2. UAU

3. AAU

4. AUG
Options :
68634051457. 1
68634051458. 2

68634051459. 3
68634051460. 4

Question Number : 66 Question Id : 68634013027 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: The chemical potential of an uncharged solute 5. in a given medium can be defined as in
equation

="+ RE Ing

Statement IT: u°_ = standard chemical potential

18 at 1M concentration

E. = Gas constant

T = Temperature

a = Natural logarithm of the activity a of the solvent

In the light of the above statements, choose the most apprepriate answer from the options given below:
1. Both Statement I and Statement IT are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement 11 is false

4. Statement I 15 false but Statement IT 15 true

Options :



68634051461. 1
68634051462. 2
68634051463. 3
68634051464. 4

Question Number : 66 Question Id : 68634013027 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634051461. 1
68634051462. 2
68634051463. 3
68634051464. 4

Question Number : 67 Question Id : 68634013028 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Correct sequence for raw cotton processing into varn and woven clothes is:

A. Ginning

B. Picking

C. Combing and drawing of drafting
D. Baling

E. Carding

Choose the correct answer from the options given below:

1. AB.C,D.E

[ ]

CALCBE, D
3.ALDLB.E.C
4. B.C.D.E.A

Options :

68634051465. 1
68634051466. 2
68634051467. 3
68634051468. 4

Question Number : 67 Question Id : 68634013028 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634051465. 1
68634051466. 2
68634051467. 3
68634051468. 4



Question Number : 68 Question Id : 68634013029 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Y-shaped or 2-channel energy flow model of E.P. Odum 1s more realistic than linear energy flow
model of Lindeman.

Reason R: Y-shaped model 1s realistic because 1t has both grazing and detritus food chains.
In the light of the above statements. choose the most apprepriate answer from the options given below:

1. Both A and R are true and R 1s the correct explanation of A

2

. Both A and R are true but R is NOT the correct explanation of A
3. A 1s true but R 1s false

4. A is not false but R is true

Options :

68634051469. 1
68634051470. 2
68634051471. 3
68634051472. 4

Question Number : 68 Question Id : 68634013029 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634051469. 1
68634051470, 2

68634051471.3
68634051472. 4




Question Number : 69 Question Id : 68634013030 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Vivipary can be observed in-

1. Xerophytes

2

. Halophytes

LFS]

. Mesophytes

=

. Heliophytes

Options :

68634051473. 1
68634051474. 2
68634051475. 3
68634051476. 4

Question Number : 69 Question Id : 68634013030 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634051473. 1
68634051474. 2

68634051475. 3
68634051476. 4
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Question Number : 70 Question Id : 68634013031 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The zone of transition between two conununities is called:

1. Eecad

[

. Ecotone

L]

. Ecotype

4. Edge effect
Options :
68634051477. 1
68634051478. 2

68634051479. 3
68634051480. 4

Question Number : 70 Question Id : 68634013031 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634051477. 1
68634051478. 2
68634051479. 3
68634051480. 4

Question Number : 71 Question Id : 68634013032 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The correct order for the process of plant succession 1s:

A. Migration
B. Nudation

C. Ecesis

D. Stabilization
E. Reaction

Choose the correct answer from the options given below:

LB AE GD

[ ]

CACBCUE D
3.B.ACED
4.B.C.A D.E

Options :

68634051481. 1
68634051482. 2
68634051483. 3
68634051484. 4

Question Number : 71 Question Id : 68634013032 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634051481. 1
68634051482. 2
68634051483. 3
68634051484. 4



Question Number : 72 Question Id : 68634013033 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A | Glopeenils I Tail, snout, ear and legs of
mammals
B. | Bergman rule II. Bird wings
C. |Allen rule 111 |Size of animal and body parts
D. | Rensch rule IV |Effect on coloration

Choose the correct answer from the options given below:

1. A-IV. B-I1I. C-1. D-II

| ]

A-IV, B-1, C-I11, D-I1
3. A-L. B-II. C-III. D-IV
4. A-I1, B-1II. C-1. D-IV

Options :

68634051485. 1
68634051486. 2
68634051487. 3
68634051488. 4

Question Number : 72 Question Id : 68634013033 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-IV. B-IIL. C-I. D-II
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|

CA-IV. B-1. C-III. D-11
3. A-L. B-1. C-III. D-IV
4. A-IL. B-III. C-I. D-IV
Options :

68634051485. 1
68634051486. 2



68634051487. 3
68634051488. 4

Question Number : 73 Question Id : 68634013034 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTIT
A |APG classification I. | Charles Bessey
B. | Strobiloid theory II. | G. Benthem and Sir J.D. Hooker
C. | Die Naturlichen Pflanzen familien | III. | Kare Bremer and Birgitta Bremer
D. | Genera Plantarum IV | Adolf Engler and K A Prantl

Choose the correct answer from the options given below:

1. A-IV, B-II, C-III. D-I

| )

A-IL B-1IL, C-1, D-IV
3. A-L. B-IV, C-II, D-III
4. A-ITL B-1. C-IV. D-II

Options :

68634051489. 1
68634051490. 2
68634051491. 3
68634051492. 4

Question Number : 73 Question Id : 68634013034 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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 A-IL B-IIIL, C-1. D-IV
3. A-L. B-IV. C-II, D-III
4. A-I11, B-1, C-IV. D-II

Options :



68634051489. 1
68634051490. 2
68634051491. 3
68634051492. 4

Question Number : 74 Question Id : 68634013035 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A specimen is termed . when in the absence of a holotype it is selected from the original
material cited by the author.

1. Neotype

2. Lectotype

3. Isotype

4. Syntype
Options :
68634051493. 1
68634051494. 2

68634051495. 3
68634051496. 4

Question Number : 74 Question Id : 68634013035 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634051493. 1
68634051494. 2
68634051495. 3
68634051496. 4

Question Number : 75 Question Id : 68634013036 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Cerasus cornuta was first identified and named by Wallich but he failed to get it in a valid manner.
Subsequently. it was validly published by Royle. Therefore, its scientific name would be correctly written as:

1. Cerasus cornuta Wall. in Royale

I._.'I

. Cerasus cornuta Wall. emend Royle
3. CeraSus cornuta Wall. ex Royle

4. CeraSus cornuta Wall. [Royle]

Options :

68634051497. 1
68634051498. 2
68634051499. 3
68634051500. 4

Question Number : 75 Question Id : 68634013036 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634051497. 1
68634051498. 2
68634051499. 3
68634051500. 4

Question Number : 76 Question Id : 68634013037 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: It is valid to accept the applicability of generic name Cecropia for moths as well a tropical tree
species.

Statement II: According to nomenclatural codes. same names are not allowed across the codes.
In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

[ ]

. Both Statement I and Statement II are incorrect

LF%]

. Statement I is correct but Statement I1 is incorrect

4. Statement [ 1s incorrect but Statement II is correct

Options :

68634051501. 1
68634051502. 2
68634051503. 3
68634051504. 4

Question Number : 76 Question Id : 68634013037 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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i fou 7Tt fawedl § § el SR &1 99 Fiult:
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BY 1 el 6. Wi BUA 1 7ad &
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Options :

68634051501. 1
68634051502. 2
68634051503. 3
68634051504. 4

Question Number : 77 Question Id : 68634013038 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
R Hedyserum cornutum L. 1763 | 1 Vst
| (==) Hedvserum spinosum L. 1739 -
B. | Acacia rilotica ssp niletica II. | Nothospecies
C. | Malus malus III. | Nomenclatural synonym
D. | Salix auwrita X Salix caprea IV, | Autonym

Choose the correct answer from the options given below:

1. A-I. B-II. C-IV. D-ITI
2. A-IL B-IV. C-1, D-II
3. A-IL. B-1. C-II1, D-IV
4. A-IV. B-111. C-I1. D-I

Options :

68634051505. 1

68634051506. 2

68634051507. 3
68634051508. 4

Question Number : 77 Question Id : 68634013038 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey

T 1 T 11
EfSTNT BIRYGSHL. 1763
(==) BISTRT TEFI@HL. 1759 L g

U7 Tl ssp Alciiicdl | 11 [FiydEig

HICTE. AT 111 HHY<dig 99 1
Tfciad 3EeTX Gfcred puiar | 1v. f@aH

frafafad fawel 5 I 96t S| &1 994 DI -

1. A-I. B-II. C-IV, D-III

ofo[w] =

2. AL B-IV, C-1, D-II
3. A-IL B-1. C-IIL. D-IV
4. A-IV. B-11I. C-I1, D-I

Options :

68634051505. 1
68634051506. 2
68634051507. 3
68634051508. 4



Question Number : 78 Question Id : 68634013039 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and the other is labelled as Reason R.

Assertion A: In gametophytic self-incompatible flowering plants. the direction of information to inhibit pollen
tube is from pistil to pollen.

Reason R: The female determinants localized in the pistil interact with the pollen tubes in the style or ovule to
inhibit the incompatible tube.

In the light of the above statements. choose the mosr appropriate answer from the options given below:
1. Both A and R are correct and R 1s the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. A 1s correct but R 1s not correct

4. A is not correct but R is correct

Options :

68634051509. 1
68634051510. 2
68634051511. 3
68634051512. 4

Question Number : 78 Question Id : 68634013039 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 3 U AU 0 §, UF AU (Assertion A)TF $U 1 [AIRET § T G391 36 PRUI (Reason R.)& ¥
T

HfHHY A S - 3T IO OTea T H, TR T & SfaRiy= & JE1 6 R ThaR ¥ R
! P Bl 5

BRI R: WIHIR T ®HIPd A&l HuRe, s 91 Y@ 1 SR el & 3aRieH & (g RIT Afeprsi o
SafpmaRa g1

SWRI DY & Tl 1, 1< 34U 7Y [deedi T 9 9ad Iugdd ¥ &1 99 Difoly
1. A SR R 3 961 € AR R. A Pl Jgl AR §

A SRR M U6 § SRR, A D Hel oURAT 761 &

ATHE IR RIS TR

AT APIRTEI T

b2

L¥ 5]

s

Options :
68634051509. 1



68634051510. 2
68634051511. 3
68634051512. 4

Question Number : 79 Question Id : 68634013040 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The type of embryogeny in which the apical cell of a 2-celled proembryo divides transversely and both the
daughter cells contribute to the development of embryo is known as

1. Asterad type

[ ]

. Crucifer type

L¥¥]

. Chenopodiad type

e

. Caryophyllad type

Options :

68634051513. 1
68634051514. 2
68634051515. 3
68634051516. 4

Question Number : 79 Question Id : 68634013040 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634051513. 1
68634051514. 2
68634051515. 3
68634051516. 4

Question Number : 80 Question Id : 68634013041 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



For commercial production of hybrid seeds. the three lines namely A. B and C refer to:

1. Mamtainer. female parent and restorer. respectively.

b2

. Restorer, Maintainer, bisexual parent respectively

L¥ 5]

. Bisexual parent, Restorer and Female parent respectively
4. Female parent, Maintainer and Male parent respectively

Options :

68634051517. 1
68634051518. 2
68634051519. 3
68634051520. 4

Question Number : 80 Question Id : 68634013041 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634051517. 1
68634051518. 2
68634051519. 3
68634051520. 4

Question Number : 81 Question Id : 68634013042 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Ultrastructural details of constituent cells of female gametophyte was first explained by:

1. Panchanan Maheshwari

[

. Jack Hesslop-Harrison

[F5]

. William A. Jensen
4. N.S. Rangaswamy

Options :
68634051521. 1



68634051522. 2
68634051523.3
68634051524. 4

Question Number : 81 Question Id : 68634013042 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634051521. 1
68634051522. 2
68634051523. 3
68634051524. 4

Question Number : 82 Question Id : 68634013043 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Aponixis Type Feature
A | Ixeris I. | Precoctous desynapsis
B. | Allium II. | MMC bypasses meiois
C. | Taraxacum II1. | Asyndetic meiotic prophase
D. | Antennaria IV. | Premeiotic chromosome doubling

Choose the correct answer from the options given below:

1. A-III, B-IV. C-1. D-II

[ ]

. A-IL B-1, C-IV, D-ITI
3. A-IV, B-I1I, C-II, D-I
4. A-1. B-II. C-III. D-IV

Options :

68634051525. 1
68634051526. 2
68634051527. 3
68634051528. 4



Question Number : 82 Question Id : 68634013043 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 gt 11 9 faH Sife
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FafaRad o eal © O 9gl SR & 994 DI

1. A-IIL B-TIV, C-1, D-II

ofofw>

|

CA-IL B-I. C-IV, D-III
3. A-IV. B-111. C-I1. D-1
4. A-1. B-11. C-III. D-IV

Options :

68634051525. 1

68634051526. 2

68634051527. 3
68634051528. 4

Question Number : 83 Question Id : 68634013044 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In CAM pathway. the stomata :

1. opens during day

[ )

. opens during night
3. remain closed during day and night
4. remain open during day and nigt

Options :

68634051529. 1
68634051530. 2
68634051531. 3
68634051532. 4

Question Number : 83 Question Id : 68634013044 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CAM TR IR ¥IHel-
1. A dagad g
2. 30 &I Gad &
3. e iR Fdewwa §
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Options :

68634051529. 1
68634051530. 2
68634051531. 3
68634051532. 4

Question Number : 84 Question Id : 68634013045 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements are true regarding the nature of cell wall of different microorganisms?

A. Cell wall of bacteria is composed of true peptidoglycan a complex having muramic acid and cross links
of L-amino acids.

B. Membrane lipids of Archaea contains branched chains attached to glycerol by ether linkage.

C. Cell wall of fungi are majorly made up of chitin.

D. Virus and viroids lack cell wall.

E. Cell wall is absent in mycoplasma.

Choose the correct answer from the options given below:
1.B.C.D. E only
2.A.B,C.D,E only
3.D.E. Aonly

4.C,D. E only

Options :

68634051533. 1
68634051534.2
68634051535. 3
68634051536. 4

Question Number : 84 Question Id : 68634013045 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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B. Wibe 31 St fiRy vwgad: Sfed ¥ & gl 81

c. faumupai qur argRizs o Sifdrer i =af gl |

D. IS o B HifreT ffy et urg s |

i fou 7Tt fawedl © § 9El SR &1 99 Hifult:
1.$ddB,C.D.E
2. $dd A, B.C.D,E
3. $dd D, E. A
4, $AUC,D.E

Options :

68634051533. 1
68634051534. 2
68634051535. 3
68634051536. 4

Question Number : 85 Question Id : 68634013046 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Formation of gas bubble leading to collapse of tension in liquid phase during water transport in xylem is
called:

1. Capatation

| )

. Adhesion
3. Cavitation
4. Cohesion

Options :

68634051537. 1
68634051538. 2
68634051539. 3
68634051540. 4

Question Number : 85 Question Id : 68634013046 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634051537. 1
68634051538. 2
68634051539. 3
68634051540. 4

Question Number : 86 Question Id : 68634013047 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

During operation of C, oxidative photosynthetic cycle, molecules move from one organalle to another in

following manner:

A. Glycme 1s transported to mitochondria
B. Glycolate is transported to peroxisome
C. Serine is transported to peroxisome

D. Glycerate is transported to chloroplast.

Choose the correct answer from the options given below:
1L.B,A,D;C
2.B,A,C.D
3.A,B,C.D

4. A B.D.C

Options :

68634051541. 1
68634051542. 2
68634051543. 3
68634051544. 4

Question Number : 86 Question Id : 68634013047 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



C, SHTFH0N RN 960 B Gihdl & GRM, 0] U SIS J 3R H FH 1 ¥ [y yaR
TTH &d 82

A, TWRdE ARG e H afgd el gl
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c. WA, Wiedayg § afgd siar g
D. fiere, aaRiare § afgd sldi o

- feu 7Y famed! & @ Tel SR o 7 S

1.B,A.ID;C

b2

.B,A.C.D
5 A B CD
4. A B.D.C

Options :

68634051541. 1
68634051542. 2
68634051543. 3
68634051544. 4

Question Number : 87 Question Id : 68634013048 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Sugars translocated in phloem are in non-reducing form.
Reason R: The non-reducing sugars are less reactive than reducing sugars.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R 1s NOT the correct explanation of A
3. A is true but R is false
4. A 1s not false but R is true
Options :
68634051545. 1
68634051546. 2

68634051547. 3
68634051548. 4

Question Number : 87 Question Id : 68634013048 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :

68634051545. 1
68634051546. 2
68634051547. 3
68634051548. 4

Question Number : 88 Question Id : 68634013049 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Ruska developed first transmission Electron microscope (TEM) which has resolution 1000 times
better than the light microscope.

Statement II: Transmission Electron microscope uses very advanced glass in their lenses.
In the light of the above statements. choose the mosr appropriate answer from the options given below:

1. Both Statement I and Statement IT are true

| ]

. Both Statement I and Statement I are false
3. Statement I is true but Statement II 1s false

4. Statement I 15 false but Statement II is true

Options :

68634051549. 1
68634051550. 2
68634051551. 3
68634051552. 4

Question Number : 88 Question Id : 68634013049 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :

68634051549. 1
68634051550. 2
68634051551. 3
68634051552. 4

Question Number : 89 Question Id : 68634013050 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
During biological nitrogen fixation, ATPs are required to fix molecular nitrogen into ammonia.
1. Four
2. Eight
3. Thirty two
4, Sixteen

Options :

68634051553. 1
68634051554.2
68634051555. 3
68634051556. 4

Question Number : 89 Question Id : 68634013050 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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e
RCiEs]
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Options :

68634051553. 1
68634051554. 2
68634051555. 3
68634051556. 4

L]

Question Number : 90 Question Id : 68634013051 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The fatty acid synthesis is carried out in which part of the plant cell?
1. Cytosol
2. Plastids
3. Mitochondria
4. Lysosome
Options :
68634051557. 1
68634051558. 2

68634051559. 3
68634051560. 4

Question Number : 90 Question Id : 68634013051 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634051557. 1
68634051558. 2
68634051559. 3
68634051560. 4

Question Number : 91 Question Id : 68634013052 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Pyrethrum compound is derived from several species of Parthenium which is widely used as an
insecticidal preparation.

Statement IT: Parthenium 1s a native plant of India grown in Northern Plains and has ecological importance.
In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

| )

. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect

4. Statement I i1s incorrect but Statement IT is correct

Options :

68634051561. 1
68634051562. 2
68634051563. 3
68634051564. 4

Question Number : 91 Question Id : 68634013052 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634051561. 1
68634051562. 2
68634051563. 3
68634051564. 4

Question Number : 92 Question Id : 68634013053 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Metabolic Cycles Organellae(s) involved
A | Glyoxylate Cycle I. | Chloroplast
B. | Citric acid cycle II. | Glyoxysome
C. | Calvin Cycle IT1. | Mitochondria, Chloroplast, Peroxisome
D. | C; oxadative Photosynthesis cycle | IV, | Mitochondria

Choose the correct answer from the options given below:

1. A-IIT. B-1. C-I1. D-IV
2. A-TV. B-11. C-111. D-I
3. A-I. B-IIL. C-IV. D-1I
4. A-I1. B-IV. C-1. D-III

Options :

68634051565. 1

68634051566. 2

68634051567. 3
68634051568. 4



Question Number : 92 Question Id : 68634013053 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-III, B-1. C-II. D-IV
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- A-TV, B-II, C-I11, D-1
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CA-LL B-IIIL C-IV, D-I1
4. A-IL. B-IV. C-1. D-III

Options :

68634051565. 1
68634051566. 2
68634051567. 3
68634051568. 4

Question Number : 93 Question Id : 68634013054 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PCR involves the following steps. What is the correct sequence?

A Visualisation of amplified product
B. PCR machine run

C. DNA isolation

D. Loading of PCR run

E. PCR reaction setup in tube

Choose the correct answer from the options given below:

1LABCDE

[

.C,E.D.B.A
3.B.A.D,C.E
4.E.B.D,C,A

Options :

68634051569. 1
68634051570. 2



68634051571. 3
68634051572. 4

Question Number : 93 Question Id : 68634013054 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ot it SR & FEiiRad IR sid © | S99 Yol H J1 52

A. faaf¥id Iare o1 anedieo

B. Ul 9l 3R O=(H 3 (PCR machine)

C. S TF T gyaadyl

D. 0l It 3R T S ST |

E. FifeieT § Ui €1 3R Sffiehar gldn -

e fau 7Y fawedt # 9 Tel 3R o1 90 Sifie:

1LABCDE

[

.C,E.D.B.A
33 B.AD CE
4.E.B.D.C.A

Options :

68634051569. 1

68634051570. 2

68634051571.3
68634051572. 4

Question Number : 94 Question Id : 68634013055 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

For fusion of protoplast this chemical is used as a fusogen:

1. Potassium Sulphate

b2

. Chloroform

L¥ 5]

. Polyethylene Glycol (PEG)
4. Glycerol

Options :

68634051573. 1
68634051574. 2
68634051575. 3
68634051576. 4

Question Number : 94 Question Id : 68634013055 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

9 310 B UieldRe S7a- § U a0 & 9 8 JUai a1 9rdr g2
1. TRy gethe

 FARIBIH

UidlEdH TASHIa(PEG)

4. TR

Options :

68634051573. 1
68634051574. 2
68634051575. 3
68634051576. 4

| ]

[#5]

Question Number : 95 Question Id : 68634013056 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mendel's first three postulates include:

A Linkage of genes

B. Unit factors in pairs

C. Dominance/Recessiveness
D. Monohybrid cross

E. Segregation

Choose the correct answer from the options given below:

1. A.B.E only

[ B)

.C.D. A only
3.B,C.E only
4, A.B.D.E only

Options :

68634051577. 1
68634051578. 2
68634051579. 3
68634051580. 4

Question Number : 95 Question Id : 68634013056 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



THed o gyd oF sifiyRonst 7. Fg ¥ S SH-eH Wi g2
S B Headd

A, SIS H§ Ui BRE
B. WHTfaan srwHTfder
C. TSP DT
D. JUdhI0l
i fou 7Tt fawedl © § 9El SR &1 997 Fifult:
1. PddA.B.E
. $adC.D. A
3. %ddB. C.E

4. PAAA.B.D.E

[

Options :

68634051577. 1
68634051578. 2
68634051579. 3
68634051580. 4

Question Number : 96 Question Id : 68634013057 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
pBR322 I |EC Cockings
MS medium 1. | Kary Mullis

PCR reaction III. | Bolivar and Rodriguez
Protoplast culture | IV. | Murashige and Skoog

N REE

Choose the correct answer from the options given below:

1. A-IV, B-I1I. C-II. D-I

| ]

CA-TL B-IIL C-IV. D-ITT
3. A-IV, B-1, C-III. D-II
4. A-IIL B-IV. C-I1, D-I

Options :

68634051581. 1
68634051582. 2
68634051583. 3
68634051584. 4



Question Number : 96 Question Id : 68634013057 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey
g1 T I

bBR322 I 54 ®ifid™

Ms Hifsga | o [l miag

PCR HTHfeRa | 111 [Siciiar 3R ATSaH
_ [oieieme e v [gufin SR w

fafafad faemedl O O 981 IR &1 994 I -

1. A-IV. B-I11. C-1I. D-I

ofofw]s

2. A-I B-1I. C-IV, D-III
3. A-IV. B-1, C-I11. D-II
4. A-TII, B-IV. C-T1. D-I

Options :

68634051581. 1

68634051582. 2

68634051583.3
68634051584. 4

Question Number : 97 Question Id : 68634013058 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other i1s labelled as Reason R.

Assertion A: The orange colour of henna is due to lawsone (C;HgO5) present in dried leaves of Lawsonia

genus.,

Reason R: Lawsone is an oil soluble compound which can be extracted from the leaves using soxhlet
extraction.

In the light of the above statements. choose the mosr appropriate answer from the options given below:

1. Both A and R are correct and R 1s the correct explanation of A

[ ]

. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct
4. A 13 not correct but R is correct

Options :

68634051585. 1
68634051586. 2



68634051587. 3
68634051588. 4

Question Number : 97 Question Id : 68634013058 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A al HYA AU U §. TP IMUHYT (Assertion A)S U H [6REd & 1 THRT 3D BRI (Reason R.)PH T

g

HUDHYAA: HES! BT TR T AT W9 & @ Il § UIY S aTdd A9 (¢gHg05)% HRU 8|
BRI R: A TP da 8 gaeia A s orie Siggee FHspy 9idi & 399 gRI R a1 Al

gl

ORI BYH & ATclie U, A< 43U MU [dedi ¥ I 98 Iugdd Iax 1 98 Difulu

1

2

4,

ASRREH T8l & IR R ADI ol AR &
A 3R R S el € SRR, A &1 UEt oure 78T §
ATE AR IR A ©

AT AT AR O ®

Options :

68634051585. 1
68634051586. 2
68634051587. 3
68634051588. 4

Question Number : 98 Question Id : 68634013059 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII

A
A |BO P[i:l A “i_":l I. | Carvophyllaceas
B. |® (_fl:'.pil{_.- ?KHJ {?ﬂ;[al(j{:’l IT. |Solanaceae

< e - . .
C.|90Q KtS] C r_S]AS ("[lj I11. | Chenopodiaceae

Pl N .
D |80 K;CqAg s G[“ IV. | Malvaceae

Choose the correct answer from the options given below:

1. A-IL. B-1. C-IV, D-III

| B)

. A-TV. B-III. C-I, D-I1
3. A-L B-II. C-III, D-IV
4, A-IIIL B-1V, C-I1, D-I

Options :

68634051589. 1
68634051590. 2
68634051591. 3
68634051592. 4

Question Number : 98 Question Id : 68634013059 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 9 o Sifey

g1 g 1

) As Gy I [efeaifpad

B. &JQ{EpiKs ?Krsa'[?_-‘i[mﬁm 1L [eicref

.
Al®dr,

/" ( = 4y oy
C. |29 K5 (45 Og) L. s
(3) IV. [ATera !

A
D. |20 K {"__.\ Asgis G

fFafafad faweal § I 98t S &1 997 B :

1. A-II., B-1. C-IV, D-III

[

CA-TV, B-IIL C-1, D-11
3. A-L. B-11., C-IIL. D-IV
4. A-II1. B-IV. C-II. D-I

Options :

68634051589. 1
68634051590. 2
68634051591. 3
68634051592. 4

Question Number : 99 Question Id : 68634013060 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTIT
A |Labyrinth seeds | 1. | Echakium elarerium
B. | Anenochory 11. | Amtermaria alpina
C. |Autochory 1I1. | Kingiodendron
D. | Diplospory IV | Oroxylum indicum

Choose the correct answer from the options given below:

1. A-II. B-1. C-III. D-IV

| ]

CA-TV, B-III. C-1I1. D-1
3. A-III, B-IV, C-1, D-II
4. A-I. B-II. C-IV, D-III
Options :

68634051593. 1
68634051594. 2



68634051595. 3
68634051596. 4

Question Number : 99 Question Id : 68634013060 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 gt 11 9 faH Sife

T T TqAT I
T Yl® dd 1. |gqaidag saiiad
@ Fiui 1L |ge/HRar oegir
G UBIU (3Aeia iy 1L |[@fais s
e demoar | v |siiiegas gig@a

fFafaRad fdwedl O O U1 IR &1 994 I :

1. A-IL. B-1. C-IIL. D-IV

Ofo|w]=

|

ATV, B-IILL. C-I1L. D-I
3. A-IIL. B-IV. C-I. D-TI
4. A-1. B-II. C-IV, D-III

Options :

68634051593. 1

68634051594. 2

68634051595. 3
68634051596. 4

Question Number : 100 Question Id : 68634013061 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: A Cosmid 1s a specialised vector composed of cos sites of phage 4.
Reason R: cos sites enable the DNA to get packed in lambda (1) particles.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

| )

. Both A and R are correct but R 1s NOT the correct explanation of A
3. A is correct but R s not correct
4. A is not correct but R is correct

Options :

68634051597. 1
68634051598. 2



68634051599. 3
68634051600. 4

Question Number : 100 Question Id : 68634013061 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-9 &1 YA AU U §, TP U@ UT (Assertion A)d $U H [T T T G3RT 36 PRUI (Reason R.)& 3T
T

HfApUT A: HIFATS T U0 Ay SRS o @S § .41 & cos R S e B 31
BRI R: cos BT, S T U P! A1ESI o) UM H 89 & & g Wi Sar gl
SWRIS Y & HTclie 1, A< 34U 7Y [deedi ¥ 9 9ad Iugdd ¥ &1 99 Difely

1. A SRR 3 961 € AR R. A DI Hel AR &

2. A SRR GHI 98l § IR R. A DI Hel oA 61 ©

3. ATE TP R wE A

4 ATEI TS g APTIR T &

Options :

68634051597. 1
68634051598. 2
68634051599. 3
68634051600. 4




